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1. gqs ftrl']t{Es 6.a{ q$ft frs< firTt ; 1x8=8

Answer the following as directed :

(a) mleffq 'sre 

- 

{f{ql I

SuPPlYisa-concePt'
(, TgF

stock

ri, a-d'q qr rw
tlow and stock
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r,,, tKl{
flow

f, ,s+-d-s qfft q'<

more than unitY

11, .sr-6$ s{ q <

less than unitY

riril sF q:rF {<
equal to

(lul {<I e <

unity

zero

(iul e"K< qils {q{
None of the above

( \$E Eq{61 <tR €frs$ )

( Choose the correct answer )

(b) <fr n< 10% "tR{6{ Rf{r{ +-qs utkt t+v"

flffi{ E{, F(E Ep

If change in. price is 10% and change in
demand is 14Yo, then -Bo is

( eq ffit EtR Sfrs<t )

( Choose the correct answer )

P25lL9 ( Continued )



- scrril'tl 41g 4(s' c{F{t
(c) sql'€1N16E

A consumer is iil equilibrium' when

w
I:|IU a

I\/[[J , Px

(Ltl Wa Pa

(3)

( Choose

(t)

(iil

P.
Pu

w* Px

MrJa Pa

[u) s'|fi cBts i<
None of the above

' i =" €s-<ttl <lR Gfi'e{ )

--J-ie correct answer )

(d) Fq? E-<i< '4rqE 6-<1<'qEfu q{

The Engel curve for an inferior goocl

r, <{{Iq-f DIEF
sloPes negauve

(til <-{Hs dtry
stoPes Posltl\'e

/iii) {.flg< 6"tl
is horizontal line

/iu) Ga€ 6{l
is vertical line

( eE Gs-<13t 4lR EBs<l )

( Choose the correct answer )
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(e) Eq"itt-+' aqcl $q"i1q-+ ql+ $q"fgq $qE ,qs

Tfffi q-"f6-f Fni+t +r3 t

( lgq m -e6 fr"lt )

Production function shows the
technical relationship between input
and outPut' 

( write True or False )

(fl 3ry8 <l-r ^ ?

What is real cost?

(g) TT< E iE T3-rlti 1H {F6fl6.t qfuo ?q qrcq.?

The concept of opportunity cost is
associated with

[/ Marshall

[r/ Senior

/ilil Knight

(lul sef<< qq61l Aq{
None of them

( ea ffit <rR €fre<r )

( Choose the correct ansrver )

(lt) qorufi$ sq-\q ql$ Ufu< q<-&fuqlflT-\51{

{15-{ T-'16 i<"rao r

( \sq 6 q€6 Frll )

The relationship betrveen the degree of
monopoly power and price elasticity of
demand is inverse.

( Write True or False )
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2. ses fr-!E{q{ D{ 6I+t B-{t (fr mtc{t ERbt) : 4x4=L6
Write short notes on the following (any four):
(a) DtfMr €fs Rfrffs-st

Cross elasticity of demand

(b) <kst cq{l

Budget line

(c) n< ftrsfi_+-<q

Price discrimination

(d,) Sq'flk-fi "tffi{ qfito frf}
Law of variable proportion

(e) ,4Trsfr-E.t <qF< Fpna e{l
Supply curve under monopoly

3. (a) HR?K q< @"rc-rgl ffil{ T-{t "i6fsqx <Tl:Bt

+-<tr qtbit*+ gsT? taB ffi:qfir 10+1:11
Explain the different methods of
measurement of price elasticity of
demand. Which is the most suitable
measure?

qE<{ / cr
(b) Dtful< q< ft&qt"rs-st qrs qF RBq"rcot<

{r{ffi6t <rnjt Ft i qdfrB frBEE qE

{<EqTqs erY <'f'q| T-{ll 7+4=Ll
Explain the concepts of price elasticity
and incorne elasticity of dernand.
Describe their importance in economic
analysis.

(
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4. (a) fi"-<ct+ c$tl {l{"lK {qlr-\t stretst< EFTlrrst

EFs r-$ gffit <ll"llt $-<I t Sqrc'rsn qm

flffi q'r4 vK${IsK \e'r<\5 ft egr< tc<r
. 8+4:12

Explain consumer's equilibrium with

the help of indifference culve approach'

How will a change in consumer's

income affect his equilibrium?

qcT't / Or

(b) qlr srsr< q1-+ d&Etfl{ srsr<{ fi'Bl ft$ I

€MR-s a.<i, fi-SE 6<l ql+ fiGF{ E<l< rFE.':-

qH srsF{ EtW Gq< qqBls <jT-<fi T-$ | 4+8=12

Define income effect and substitution

effect. Explain the income effect in case

of normal, inferior and Giffen goods

with the helP of suitable diagram.

s. (a) $q+6qaq sBEl{ frR ftt q{Uq"ttt<--q cE-<ll{

{.qFs Eq"fiq{< 4q.{ftt{ sfrTr{, q{R<

ar,rqF \T|s cqlq${ $b?r{ qfiHIE-{I +Tt I

1+10=11

What is the law of returns to scale?

Discuss increasing, constant and

decreasing returns to scale with the

helP of isoquant.

)
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q?r<l / or

(b) g5-sfft4 q'f+ ffiq frg qlT G?t|< {s-{

ry"r6 qnEru-{I +-{ I 'L' qrcb{ 'LAC' F{l

ryfl6$ qlrfi q<lt 5+6=11

Discuss the relationship between short-

run and long-run average cost curves'

Explain the L-shaPed LAC curve'

6. (a) €MfrT r-{ ft? 1{ affiru TL" 
qi{-T

.cq{ g&*1-{ qr &E'fi5K sr{ql{Jst mc{cs

fi{q s-{t q{, Ekfrltr{i +-<ll 1+10:11

What is normal price? Discuss how the

long-run equilibrium of industry and

firm are ditermined under Perfect

comPetition.

qet4{ / or

I

(b) q+cDB$ <-ql$o A{-sFs EIs r#lfk+ qsl q-{

qfa SqcfiqTq eifficl Fr*re ftfi <-<t q{,

<f+t T-<1t

Describe how profrt rnaximizing output

and price are determined in the long

run in a monoPolY market'

11
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,{fift--sF dBc$f}rq <qr{< {ist it{t I qq-rrq-\5

qflfksK <q.t<s csc{s -sl-<{l'.{, q< qrs

Eq"ttq-{ fi-qtq o$ q{, <ll-.lll $-<t t ertksrc
gffitiot {'qt<s q?H EF}iEl a&fira wH
\q€fgtRs 4s qd{ srfl{? 1+$+2=11

Deline monopolistic cornPetion"
Illustrate how a firm in monopolistic
competition determines equilibrium
price and output in the short run. Does a
firm in equilibrium in monopolistic
competition always make supernormal
profit?

qw/or

( )

7. (a)

(b) Es ftG€F {qr{ FlT FIF{? q-{ mqf.f,{61 s-fr

ftc@erc Tqlq'i qr{ qr+ $qtt-nr"T lt*t sfur}

What is oligopoly? Explain the price-
output determination process under
price leadership in oligopoly.

***
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